Sottrazioni in riga: scegli la strategia piu opportuna

574-302=..........
865—-435=..........
2.900-850 = ...........
4.780-620 = ............
6.900-3.250 = ...............
2.485—-350=................
6.000 —1.800 = ..............
3.900-950=..............
7.000-3.500 = .............
9.000—-4.500 = ..............

582-302=.......
865—-225=........
900 -850 =...........
4.780-650 = ............
6.500-1.250 = ...............
5.685—-350=....cccceuens
2.000-1.800 = ..............
1.900-950 = ...............
700—-350=.............
900-450=..............




